Math 2 — Honors
Unit 2 — Quadratic Functions

Unit 2 Test Review
AT171X+ A
> Perform the indicated operation:
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> Solve by Factoring:
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> Write the equation of the parabola in x — inter
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23, x — intercepts: (—3,0) & (—1,0)
and vertex (—2,—1)
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24.  x — intercepts: (3,0) & (2,0)
and a point (5,—18)
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> Write the equations from #23-24 in vertex for
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» Complete the missing information:

27.  y=(x+4)>*-
Vertex ( - H#“L\
Axis of symmetry:_ K= _ L{
x —intercepts: (' L!,@( A;
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X - mtercept form of the equatjon:
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28. y=-2x+3)(x+1)
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